»
(1]
-3
(1]
=
)
=4
(1]

HEAT SEAL ROLLER PACK OFF TABLE

3-foot Table

Part Number/Price

REF # PART # DESCRIPTION aQTty SYNONYM
1 Consult 36 x 30 inch table frame weld assembly 1 6701-013
2 Consult Poly top, 36-inch 1 6701-018
3 Consult 36 inch rail support weld assembly 1 6835-103
4 Consult Stopper plate 1 6835-104
5 Consult Clip 4 6835-311
6 Consult Bracket for 2-foot conveyor 1 6835-367
7 200499 Conveyor roller assy, spring loaded 24 6835-369
8 104994 Leveling leg, Insert - Flange SS 1.5: Sq. Tube 4 2135-003
9 Consult Rivet Nut, 1/4-20x1-3/4 Ig, SST 10 1911-024
10 Consult Nut, hex, 1/4-20 SST 10 1911-010
11 Consult Lockwasher, split, 1/4 med, SST 14 1907-001
12 Consult Bolt, carriage, 1/4-20 X 1 3/4 1g, SST 6 1903-168
13 Consult Bolt, Carriage, 1/4-20x1/2 SST 4 1903-061
14 Consult Brackets, pivot cylinder 2 5805-090
15 Consult Screw, Cap, Button head, Socket 1/4-20x5/8 Ig. SST 4 1903-169

RICE LAKIE 4150901 Registered Company ©2022 fice Lake Weighing Systems 1/22 Prices and specifications subject to change without natice. Viit ricelake.com for current prices.
WEIGHING SYSTEMS

PRICE

Consult
Consult
Consult
Consult
Consult
Consult
$37.00
$57.00
Consult
Consult
Consult
Consult
Consult
Consult
Consult



Heat Seal Roller Pack Off Table

3-foot Table






